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QUESTION 1

Click the Exhibit button.

MX-240-1 Service Provider MX-240-2

| m m E ttizt o 1 -MI

EX-2300-1 / EX-2300-2 "-,‘ ,-/. EX-2300-3 "~, f EX-2300-4

EX-2200-5 EX-2300-6 EX-2300-T
Customer-1

Customer-1 wants the Service Provider to allow STP to operate normally on all ports but only allow the MX Series
devices to manage the Layer 2 topology.

Referring to the exhibit, which feature needs to be implemented on all devices to accomplish this task?
A. root protection

B. MAC movement protection

C. BPDU protection

D. loop protection

Correct Answer: D

QUESTION 2

You want to disable MAC learning only for interface ge-0/0/0.0 on an MX Series device. Which syntax will accomplish
this task?
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€. switch-options {
no-mac-learning:
}
B bridge-domains {
bridge-domain-name |
domain-type bridge:;
interface ge-0/0/0.0;
bridge-options {
no-mac-learning;
}
}
}
bridge-domains {
bridge-domain-name {
domain-type bridge;
interface ge-0/0/0.0;
bridge-options -
interface ge-0/0/0.0 {
no-mac-learning;
1
}
}
}
D

switch—options {
no-mac-learning;
interface xe-2/0/0.0 {
no-mac-learning:;

JNO0-362 VCE Dumps | JN0-362 Study Guide | INO-362 Braindumps


https://www.passapply.com/jn0-362.html
https://www.passapply.com/jn0-362.html
https://www.passapply.com/jn0-362.html

VCE & PDF https://www.passapply.com/jn0-362.html
2024 Latest passapply JNO-362 PDF and VCE dumps Download

PassApply.com

A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos/topics/task/configuration/layer-2-servicesmac-bridge-
domain-or-logical-interface-disabling-learning-for.htmi

QUESTION 3

You are asked to change the default TTL handling behavior on your Junos device to ensure that the RSVP-signaled
LSPs in your MPLS network cannot be mapped.

Which configuration should be performed to accomplish this task?

A. Configure the no-decrement-ttl parameter for each LSP on the ingress device
B. Configure the no-propagate-ttl parameter for each LSP on the egress device

C. Configure the no-propagate-ttl parameter for each LSP on the ingress device
D. Configure the no-decrement-ttl parameter for each LSP on the egress device

Correct Answer: B

QUESTION 4

Which two statements are correct about the BGP MED attribute? (Choose two.)

A. BGP uses the MED value when peering to two or more connections to the same upstream AS
B. BGP routes require the MED attribute be defined

C. BGP uses the MED value when peering to two different upstream ASs

D. BGP assumes the MED value to be 0, if not already defined

Correct Answer: AD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/med-attribute.html

QUESTION 5

Click the Exhibit button.
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[edit protocols bgpl]

user@router# show

group ibgp {
type intesrnal;
local-preference 100;
import byp-preference;
neighbor 10.1.1.1;
neighbor 10.2.2.2;
neighbor 10.3.3.3;

}

[edit policy-options]
user@router# show
policy-statement bgp-preference {

term 1 {
from neighbor 10.1.1.1;
then {
local-preference 130;
accept;
}
}
term 2 {
from neighbor 10.2.2.2;
then {
local-preference S0;
accept:

Referring to the exhibit, which statement is correct?

A. Routes from 10.1.1.1 are less preferred than the default local preference
B. Routes from 10.2.2.2 are less preferred than routes from 10.1.1.1

C. Routes from 10.3.3.3 are less preferred than the default local preference
D. Routes from 10.1.1.1 are less preferred than routes from 10.2.2.2

Correct Answer: B

QUESTION 6
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In which situation would you disable penultimate-hop popping?

A. When you want to bypass a penultimate router that does not support IPv6 tunneling

B. When you want to ensure the penultimate router can perform the destination route lookup
C. When you want to enforce the same class-of-service behavior through the entire LSP

D. When you want to utilize a penultimate router that supports IPv6 tunneling

Correct Answer: C

QUESTION 7

What happens when a packet matches a static route with the next hop parameter set to reject?
A. The system silently drops the packet

B. An ICMP message is sent to the source and the packet is forwarded

C. An ICMP message is sent to the source and the packet is dropped

D. The packet is forwarded and the packet is marked as rejected in the header

Correct Answer: C

Reference: https://www.informit.com/articles/article.aspx?p=30666andsegNum=5

QUESTION 8

Which statement is true when using MVRP on MX Series devices?
A. MVRP works with MSTP and RSTP, but not VSTP

B. MVRP works with RSTP and VSTP, but not MSTP

C. MVRP works with MSTP and VSTP, but not RSTP

D. MVRP does not work with MSTP, RSTP, and VSTP

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/mvrp.html

QUESTION 9
Which two statements are true about IBGP on MX Series devices? (Choose two.)
A. Neighbors can be located anywhere within the AS

B. Interface LoO must be used for peering
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C. It does not support multihop
D. Itis loop free by default
Correct Answer: AD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/bgp-ibgp-peering.html

QUESTION 10

Which action would you use to connect two virtual switches that are configured on the same router?
A. Create a VRF routing instance

B. Create a forwarding routing instance

C. Connect the virtual switches with a cable

D. Configure an irb interface

Correct Answer: B

QUESTION 11

Click the Exhibit button.

[edit routing-options]
userl@router# show
generate {
defaults {
preference 5;
}
route 0.0.0.0/0 policy ISP-NET:

[edit]
userlrouter# show policy-options
policy-statement ISP-NET {
term 1
from protocol bgp:;
then accept:

}
term 2 {

then reject:
}
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. The router will install the 0.0.0.0/0 route into the routing table when no BGP prefixes are present

B. The router will remove the 0.0.0.0/0 route from the routing table when no BGP prefixes are present
C. The router will remove the 0.0.0.0/0 route from the routing table when any BGP prefixes are present
D. The router will install the 0.0.0.0/0 route into the routing table when any BGP prefixes are present

Correct Answer: BD

QUESTION 12

You are deploying an RSVP-based MPLS network in your core. You must ensure that your LSPs are continually
analyzing the usage levels and recalculating the best LSP. You also want to ensure that a minimal amount of traffic is
lost when an LSP is re-signaled without user intervention.

Which two features must be enabled in this scenario? (Choose two.)

A. adaptive

B. MPLS fast reroute

C. class of service

D. auto-bandwidth

Correct Answer: BD

QUESTION 13

Which MPLS feature works with Constrained Shortest Path First (CSPF) to protect against the primary and secondary
paths using the same link?

A. fate-sharing

B. explicit null configuration

C. policy control over LSP selection
D. LSP metrics

Correct Answer: A

QUESTION 14

Click the Exhibit button.
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[edit protocols ospf]
user@routert# show
reference-bandwidth 100m
area 0.0.0.0 {
interface ge-1/0/0.0 {
interface-type p2p;
}
interface ge-3/0/0.0 {
priority 128;
}
interface xe-0/0/0.0 {

interface-type nbma;

Referring to the exhibit, which statement is correct?

A. Interface ge-3/0/0.0 has a default metric of 10

B. Interface xe-0/0/0.0 can only form a single adjacency
C. Interface xe-0/0/0.0 has a default metric of 10

D. Interface ge-1/0/0.0 can only form a single adjacency

Correct Answer: D

QUESTION 15

Which two IP addresses are considered Martian addresses? (Choose two.)
A. 0.0.0.0/8

B. 192.168.0.0/8

C. 240.0.0.0/4

D. 169.254.0.0/16

Correct Answer: AC

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/recognize-martian-addrrouting.html
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